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The kappa particle in some killer strains of Paramecium are due to some :
() Nuclsoprotain (B) Vieus
(C] Bactera (D) Organallos

The only freshwater species of sponges |s:
(A} Scypli (B) Euspongla
(Cy Spongiiia (D) Csoareila

Tha lirst vertebrates to develop a trug norvous system ang :
(A} Flatworms (B) Spanges
iC) Coelanterates (D) Annolids

Function of dactylozoalds in palymarphic colony ls :

(A)  Nutrition (B) Reproduchon

(C) Locomotion D} Offance and dofenico
Regeneration in Hydra was discoversd by :

(A) Leven (B) Hymari

(€] Huxsey (D) Trombley

Rhabdites are found in :
(A) Tramalcda {B) Cestodes
(G} Turbiliaria D) Ponfern

Apolysis is n process In Taenia for :
(A) Regular cetachmont of progioltide from strobila
(B] Emtuyonk: development

(C) Ingastion

{©) Infection foman
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10.

1.

12

13

Aesthetes are found in the shell of :
{Al Halix [B) Chitons
(G} Unio (D) Danfutium

How many chambers are found in the crop of lpech 7
(A} & (B) 8
() 9 O} 10

Male gonital apertures of prawn are found in:
(A) Second palr of walking legs (@) First pair of walklng legs

() Fitth pair of walking legs (D) Third pair of walking legs
World Maolaria Day is celebrated an ;

(A} 27 May B) 25 Apnil

(G} &June [0y 30 January

Glossina palpalisis s vector for :

{A} Chaga's disease (B} Kalm-azar

{C) Typhoid (D) Gambian fever

Paroxysm in tertinn molarie occurs after overy :
(A] 24 hours (B) 12 hours
(C] 48 hours D) 72 hours

14. The animal which causes parasitic castralion is :

(A) Eupigurus (B) Sacculina
(C} Crab D) Lepsina
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15.

16.

1?'

18,

19.

Name of the phylum to which *Arrow worms' belong to

{A} Raotifora (B) Hemichomiata
(C) Chaslognatha (D) Annniida
The tarva of Balanoglassus :

(&) Flanle [B) Trochophors
(C) Toeurna (D) Veligar

Earthwarms used in vermi composting :

(A) Eisenis fostida, Perlonyx excavalus, Eudrilus guganie
(B) Phoratima pogthiuma & Megascolax mauriius

(C) Bombyx man & Apig indics

(D) Bombyx mod & Megascaisx mauniius

Internal buds of sponges produced during adverse conditions :

{A) Archaocooytas [B) Osculurm
(T} Micropyke I0) Gommniile
Vector of filariasis :

(4) Anophsios IB) Cudex
{C) Tse-tze Ny D) Mites

Greon gland in crayfishes s associated with :
(A) Exéredlon (B) Mutriion
(C} Delonsa (D) Respiration

A-Sel page-5
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21. Hoctocotylus 18 a feature of :
(A) Nattius {B) Pila

(C) Sopia (D) OCetopus

22. Gynaccophoric canal ls present in male of digenetic parasite :
(A} Fascioin (B) Paragorinmus
() Clenorchis (D) Schistosoma

23. Turtles and tortoises belong Lo the order :
(Al Sgusmats (B) Crocodilia
(€} Testutines (D) Ahynohocephalia

24, Which of the foliowing aortic arches form pulmonary artery in lung fishes ?
(Ay W B IV
(Cy V ) v

25. Tha Finches of Galapagos lsiands provide evidence in favour of :
(&) Evoiuton dug lo rrutaticn B) Retrogressive evdlution
(C) Biogedagraphical evolution (D) Special croation

28, Brightly colorad Polson-dart frogs are axamples of ;
(A} Apowamalic coloralion B} Mullesian mimicry
C) Balesian mimicry (D) Crypllc calaration

27. Which ona of the following describes correcily the homologous siructures ?
(&) Organs with atislomical similasities, but peroiming ditfarant functiors
(B) Organs with anatomical fissimilanties, but perfarming same function
C) Organs that have no tunclibn now, but had at impartant lunction in ancestor
(D) Organs appearing only in ambryonic stage and disappeanng later in the adult
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28. Pregnancy tesls genarally aro based upon the detaction In maternal urine of :
(A) Estrogen (B) Propestarons
(€] Human Chpronic Somatotrapin - (D) Human Chononic Gonadotropin

29. Enlurgement of the bones of hands, feel and ince due o overproduction of

growth harmone s called :

(A) Acromegaly (8) Cushing Syndrome

(C) Polydactyly (D) Addison Disvase
30, Disbotes insipidus is a deficiency of which hormane ?

[A) Vasopressin (B Insulin I

() Aldosterona (@), Frogesterone !

)

31. Graves disease |s also known as:!

(A) Hypathyroldism (B) Parathymis

(C] Hypatinsulinism (D) Teuxie diffuse gollar

32. The spleen is largely involved with the response 1o antigens which are in the :
(A) Tisdues (B} Biood
(C) Gut (D) Lungs

33. Whichone ol the following Is a primary lymphoid organ ?
{A) Lymph nodes (B) Splaen
IC) Payer's palches (D) Thymus
A-Set page-7 D-21




34, l_nﬂﬂhmmmmmmﬂmwmﬂhodrwwﬂh:
{Ay (B} Collioldal gold
(C}) Horssradiah pbroddase (D) Fliorescent dya

35. The functicnal unit of contractile system In the stripsd musele is :

{A) Z-band (8) Myolitils
(C) A-band (D) Sarcomare

36. Tha pnaumotaxie centre in the body is :
(A} Hean (B) Medulia

(G} Liver (D) Lung

37. The trypsin enzyme is secrated by :
{A) Stomach (B} Duodenum
IC) Pancresas (D) Livar

38. The tissue thot surmounds a muscle cell (myofiber) Is known as @
(Al Epimyshum B) Poarmysium
(C) Entlomysium (DY Superfictal mysiim

35. Which of tha following cell is part of biood-brain barrier 7
(&) Mulipotar neuron (B) Psedounipaiar nauron
(C) Astrocyle (D) Micioglia

40. Which of the following satisfies the eondition for Kiinafelter syndrome 7
(&) 45, % (8) 46, XX
(C} 45, Y D) XXY
D-21 page-s A-Set




41.

Geane tor 285 rRNA In humans ls presant an which chromoesame ?

(A} Chromosorme 10 (B] Chromogomis 11
{C) Chromosoma 12 (D} Chromosame 12
The lunctlon of renin is :

(A} Toconverd angiotensin | to angiotannin ||

B} To convert anglatenainogen o angrotensin |

(€} To curdies milk by transioming caseinogen info insolible cassin
(D] To conven pepsinagen inth pepsin

Which of the following is a transition mutation ?

(A Trabstor of part of a chromosams to apother chromosbmea
(B) Change of thymine o cytodine

(C] Cnange of thymine to adening

(0 Change of cytosine to guarnine

Which of the following ﬂlﬁ! produce somatostatin in |siols of Lw 7

(A Alpha cells (B) Bata'calls
(C) Delta colls (D) Epsilon colis

Paricentric inversion is a type of ehromosome mutation in which :

(A) lhwersicn ol a chramdsoma sogmanl thal does nol includes caniremsms

[H) Inversion of @ chromasomie sagmietl thal includes centramears

(C) Ihvemsion of & cliromasoime segmant 1hat includos leiomera but not centromirs
0} Inversion of acheomaosoms seqgmiant ihal nesithor includes |Somarns Nor caniromears
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47.

49,

51.

52

The cause of Patasu syndrome |s :
(A} Tnaoimy of chromosoma 18 (@) Trisomy chromasoma 15
(C) Trisomy chromosome 14 (D) Trisomy chromasorme 13

Which of the followling structures |s present only In mammalian brain 7
(A} Compus Hbosum (B) Corpus striatum
(C) Compus lateum (D) Corpus callasurm

Forsmen of Panizaa is a hole that connaots left and right nortic in :
(A) Crocodies (B8) Lizards
(C] Turtles (D) Snakes

A group of animals having marsuplum |5 :
(Al Monoiramata {B) Euthera
(€) Metatharia (D) Pratothera

The vertebrae of birds are characteristically :
(&) Helorocoslus (B) Acoelous
(C] Opsihocosius (D) Amphicoglous

Organisms of lollowing phylum of Kingdom Animalla are commaonly known as
“lamp shalls" :

[A] Bryozoa {B8) Bracriopodi

(C) Rotifera (0) Maliusca

The mechanism of intake of DNA fragment from the surroundings medium by a
eoll s called :
(A} Transformation (B} Generalized tranaduction

(C) Conjugation (D] Specializred transduchion
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58.

Which ene is NOT a tharmostable polymemse 7

(A} Taq polymerase (B) Vet polymarass
IC] DNA polymerassa || 0} plupolymerase
PCA technique was developod by :

(Al Kary Mullis (8) Kuohler

(C) Aftman (D), Milstein

Westarn Bletting Is the lechnlque for the delection of :
(A} Specific DNA in a samplo (8} Speciliz Protein in a sampls
(C) Specilic ANA in a sampla (D) Spactiic glveolipid in a sample

The Ape found in india
(A} Chimpanreg By Gonlla
(C) OCranguian (D) Hoolock gibtan

A cross botween a given offspring and pure recessive parent 1o know its

genotype is called as :
(A} Tautcross {B) Manokybiid cross
(C) Racipracal cross [0) Back cross

The length of DNA associated with a prolein ks determined by using a technigue :
(A) DNA rephcation (B} DNA lingaeprirting
() DA footprinting (0 DNA printing

Thosa cancers that develop from epithellal cells of ectoderm or endoderm :
{A) Carcinoma (Bl Sarcoma
(G Leukasmia (D) Mysloid

The portions of chtomosomes that stain lightly and anly partially condensed :
(A} Haterochromalin (B) Euchromatin

(C} Faculative chiromatin (D) Gonatituthve chromatin
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How many genaltype can be produced by two alieles A and a
Ay 1 B 2
(C) 3 ) &

inharitance of ABO blood group shows :

{A) Polyploidy (B) Incompiete dominance
(G} Multipla alletism (B Monoplody

The ears ol a mammal living In cold area were smaller than the one fiving In s
warm area. This |s an example of :

(A} Gloger's nile {B) Jordan's rule

(G} Allun's rule (D) Bargman's rule

Emphysama is 8 condition in which ;
{A} Respitatory centra is inhibitad

(B Lot ol flukd in the lungs

(C) Lungs have less air

(D) The walts saparating the alveoli break

In mammals, the oponing of pastcaval In the right auricle is guarded by :
IA) Ml valvo (B} Thebesian valve

(C) Eustashian valve (0} Blcuspid valve
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66, Resting potential of a nerve is:
(A} & 70 il Violt B+ 30 milli Vol
[C) =30 milll Voh (O} =70 millj Vol

§7. Which of the following lsolopes is most uselul for dating very young wood and
charcoal ?
(A) RAubidium-87 (B) Potassium-40
IC) Catban-14 (D) Uranium-238

68, Which of the fullowing represents the longest time period ?
(A) Precambnan (B} Palgozoic
€Y Mesozroc (0} Conuruic

§9. Most paleontologists consider amphibians to have evolved from :
(4) Coslecarnths @) Lungfish
(C} Phipldistiang (D) Fay-hnnod fishas

70. A senshive and critical perlods are associated with what type of behavior 7
{A) Cognltive {B) Kingsis
(€] Taxis (D) Impinting

71. Where in the cell Is cytochrome P450 located ?
(A} Mitochandrial inner meTnbirana (8] Endaplasmic rticulum
(C] Cytopiasm (D) Mitochondrial matrix
A-Set page-11 D-21




72, Major serosol poliutant in jet plane emission is :

74,

75,

(A) Sulphur dioxida (B) Carbon monaxide
(C} ‘Metharip {D) CHleratiucrocarboen

The sarliest warm blooded land animals were the
{A) Palycosaurs (B} Therapsids
(C) Thecodonts B Dincsaurs

Which of the following statements correctly describes the bahavior of the

hasmoglobin protein in sickls-coll disease 7

(A} The haemoglobin lacks a haom group

(Bl Neighbouring hasmaglabin proteins aggragate togethar

(C) The hasmoglobin protemn disscciates into 4 subunits

() The hasmoglobin prolein possesses an iron atomn in the Fellil) form rather than
the normal Fa(ili) foerm

Which type aof bonding is responsibie for the secondary structure of proteins ?
(A} Disulphide bridges botwedn cysteine residues

(B] Hydrogen bonding bistween the C = 0 and N—H groups of paptica borids

(C Peplide bonds betwean Amino Acids

(0} Sall bridges betwesn charged side chains of Amino Acids

D-21 page-14 A-Set
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1. Trade-offs are required because wants are unlimited and resources are ;

Al asoolomigal (B}  uritimited
(C) oificient D) siarce
2 Points on the production possibilities frontier are :
(AY  Irieilfichort (B8] normate
(C)  unatiainable (D) affibient

3. Positive statements are :
(A} macroeconomis
(8] micreeconomic
(C) statements of description fhat can bo fested
(D) sistemonts of prascoption that mvolve value judgements

4. Il an Ingrease In consumer Incomes leads to a decrease in the demand for
camping equipment, then camping equipments is ;
(A anormal geod {B) aninfarior good
(Ch a substitule good {0} acomplementary good

5. Ifthe price of agood is above the equilibrium price :
(A} Thare 15 a sumius (Le. an oxcess supply) and ihe price will rise
(@) Mard s 8 shortage (Lo an axcess demand) and Ihe poos will fall
(C) 'hereis a shorage (Lo, an excass domand] and the prica will nse
(0] Inera ia & surplus (oo 8t axcess sLpply) and 1 price will fall

6 MWdemand s linear (a stralghit ling), then price elasticity of demand s :
(A) elastio in the uppet portion and thelastic in The lower portion
) ihelastic in e uppar portion and alastic in the lower portion
() Ihalrgfic throughout '
(¥ elaszne throeghout

7. Wfconsumers think that there are very few substitutes for s good, then |
(A} stisply would tend o be prite elistic
B8} demand would tend fo be price matastic
(C) demand would lend ta be price-elasnhc
0] supply would tand to be price inetastic
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10,

11,

LIS

14.

Which of the following statements i true 7
(A) All costs are tixed In the short run

(B} Al couts are vamiablo in the long run

iC) Al costs are vasiabia it tha short nun

{0} Al costs are fixed In the long run

In long-run eguilibrivm in a competitive market, firms are operating of :
(A) the minimum of their sverage-tolal-cost curves

(B} zerceconomic proft

(C)} tha intersaction of marginal cont and marginal rovenus

(D) all of thasa aniwers are cofrect

Which of the following is not a method of sampling 7
(A) Systematic Samplirig (BY Ouota Samplirg
(C) Snowball Sampling (D) Laige Sampling

What is the probabillity ol throwing s total of 8 from a single throw ol two dice ?

(A} 18 [ 29

[C) 538 D) 336

Sale of woollen gnrments and the day temperature, LIS ... omieee correlation.
(Al Posilive B} Megatve

(C} No'torfrelalion (D] Nane of thotn
Cormelation coafficlent between x and y lies BElWEBN ... o
{A) Dol B} -1t}

(C) Dio100 )y <1120

What is the derivative with respect o xof (x + 1) - 7

(A) =3 4 2x42 (B) —3%+3x-3

{C) Bx-3 (D) Bx+3

D=9 page-d A-Set



15. For the function Q= AK®LY ; which of the following statements are true 7
(1) dQigL = AbK™LT
(2} Marginal produst ol Labiour (MPL) = AaK™L®
(5)  Marginal produet of Capita) (MPK) = Q7K
(4} Marginal 1ate of substitution of capital for lnbour (MRS) = [dik/dL]
Which of iha above stalements ane bue 7
(A) 1,23 By 1,2.3.4
{C} 2,3.4 {D) 1.3.4

16. For the demand function Q, = 10 - 8P, + P, + 0.01Y which of the following
statements s true ?

(A) dO,/dP, =8+ P, +001Y (B) dQ/dP,=-8
(C) dOkiP,=P, (D) dQ,/dY =001-9P, + Py
17, Who Is credited with bringing the term “the invisible hand” In economics ?
(A) Adam Smith (B} John Maynard Keynes
(C) F. Hayek D) Samualsan
18, When did the Great Depression hit the United States 7
(A) 2007 (B) 1828
(C) 1836 (D) 2001

18. Consider the following staloments ;
(1) In acapialis! economy thave is private ownemhip of means of production
(2} Inacommuiist naticn, the means of production are ownead by tha Stale
(3 Inathes-markel economy ther s minimurm role of tha Govammeant
Which of the above statements isfars Lruis 7
(A} Only1and3 {8) Only2and3
{C) Only3 (D) Al gre trie

20. Intermediate goods are not Included o calculate the final output because :
(A) they do not have value
(B)  they have unknown valus
(C) their valua is included in final goods so they are nat added 1o avord the problem
of doublo eounting
{0} none of the abiove
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2.

25,

What doas the term Gross investmeant mean while denoting a nation’s sconomy ?
(Al Gross invastman| = Nel invastmsi + Dapracistion

(B) Gross vastmen! = Nel investman! - Daepraciation

() Gross invasimen! = Deprociation — Kal invostmant

(B} None of the above

In terms of aconomica, what is an “externality” 7

(A1 Benalitsor harm causad by a firm withoul paymentipenalty
(B Netincome from forsign countnes

(C) Total exports by & counlry Ina ghven yaar

i) None of the abowve

What Is the correct formula for GOP Defllator 7
(A} Nominal GOF - (minun) Real GOP

(B) Nominal GDF + Real GDP

(C) Nominal GOF/Real GDP

(01 Real GOP / Nominal GDP

A cul in the income tax rate designed to encourage household consumption Is
an examplea of ;

[A)  expannignary demand-side policy

[B) contractionary domant-side policy

€} expanaionary supply-aide policy

(0} contractionary supply-side paficy

According to the Classical model, unemploymaent :

(A could not porsist becauss wages would fall 1o eliminata the excess supply of
labaur _

(B) could persist tor long pencds of ime becaume wagos 2m nol llmdble

(C) could be elminated only through govemment intarvention

(B  coudd naver oot

David Ricordo gave his theory of Comparative Advantage in his book :
{A)  Principies of Economics

(8] Wealth of Nations

(C)  Principles of Polincal Economy and Taxation

(D) Ponciplas ol Taxaton
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27,

31,

Under the opportunity cast theory, the shape of production possibliity surve
will be concava to the origin incase of :

(A) Constantteiums lo scals {B) Increasing retums to scali
(C) Ciminishing retumns 1 scale (0)  Law of varisble proponions

The Hecksher-Ohlin theorem states that :

(A} countres which are reh in laboue will import lhour - intensive goods
(B) countries which ane fich ih labalr will export labour - Intensive goods
(C) countries which are rich in capital will export labour - intansive goods
D) ceuntries which are rich in labour will export capitnl - infansive gooda

Which af the following would show up In the capital account of USA ?
(A} A plans made In the UK and acld 1o buyar in the US

(B) A UK pension fund investing In the-US atock market

(C) An Englishman living and working in Austraiia

(0} An English car sold in Haly

in the study of international economics we use the lools of :

(A) micro aconomi theory only '

(B)  macro econdmic thaary only

() nelther migm nor macro theory

1B} both micro and magra theory, bul we also extend, adapt and intagrate them

Policles o boost export and restrict imports would, I successiul, cause :
(A) =& balance ol paymenis suprplus (B} a capital account surplus
(€} capial account deficit (O} currant ecocount deficit

According to Marahal-Lernar eondition, devaluation will improve BOP deficit
when :

(&) sum of price elastcities of demand for exports and imports is equal 10 unity.
(B8) sum of price elasticities of demand for exports and imports is less thar unily.
(C) aum o price elasticifies of demand lor axports ard impiris bs graater than unity.
(D) sum of price elashgities of demanid for exports and impons is equal to infinity

The Bretton Woods system was :
(A)  agold standasd (8) a fexible sxdhange ralo system
(€} agokd sxchange standary (D) Nene ol the above
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34, The Warld Bank's largest shareholder is
(A LK B8] U.SA
IC) Garminy {0)  Jagan

35. Zero based budget was Introduced by ©
(A)  Wisaman and Feacock {(B) Wagner
{C) Prol. Pigou (D) Patat A Pyhr

35. Which of the follawing is not non-plan expendilure ?
(A) Inferes! paymonts
(B) subsidies
(G Ponsions
iD} Asssts crealion through cantrally sponscred schaing

37. Which of the following taxes is not Impose by State Government ?
(&) Taxas on agncutlure ncome (8) Entertainment tao
(C) Capitalizanon taxes (0} Coparation tax

38. Fiscal Policy Alms at :
(&) Controlling Bank Cradil B Dahicit and Dett. Managamoent
(C1 Globalzation (D) Libaralization

349, Atthe State level Value Added Tax (VAT) has boen Intreduced fram :

(&) Febniary, 2008 (B) 1 March, 2005
(G} 1 April, 2005 (D) 1 May, 2005

40, Taxes on the consumption or sale of electricity s levied by :
(A} Central Gavammen! (B) State Govemmant
(C) Local bodies (D) Othars
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41. A Budget Deficit is balanced when :
(A} Currant expanditure ame aqual 1o budget receipts
87 Curent expendilure is grealer than receipts
) Cumrsnt expendilure i less than receipls
(D Current oxpentditute is Zoto

42 Which of the following is not considered as a social indicator of poverty 7
(A} less number of means of transport
1B) Iilemcy lavel
(C) lack of pccoss to hanfihcans

0y lack of job opportinitises

43. Calorio reguimmment in rural arens is more than in the urban amas becauss :
(A) rural people sal mor
(B} rural poople hava heavy bodies
(C) rural paople to more hard physical work
D} rural people take more rest

44. Which one aren of Infrastructure is not included in the Bharat Nirman Scheme ?
{A) limigation (B) Rural rosan

(G Fural healih (DI Fural Housing

45, For the nll-around development of the nation, community development

programme was started in :
(A} 1852 (8) 1851
{C) 1958 (D) 1954
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46, Tha "Drain Theary” about poverty in India is associnted with :

19,

(A} M. Viswesaraiah (B V.K RV Bao
(G} Dadabhal Naorai (D} Subhash Chanidra Bosa

The calorie norms given by “Task Force on Projections of Minimum Needs and

Effoctive Consumption Demand™ of the Planning Commission (19789), for

delining tha poverty line are :

(A} 2100 calotien por capita per day lor urban areas and 2400 calones por capita
par day for rural amas

(B) 2400 calones par capita par day for rural arsas anid 2100 calarigs par capia per
day o urban araas.

(C) 2000 calorios par capita per diy for urban sreas and 2600 calories par capila
per diay far rurl areas,

Dy 2800 calorios par capita par day for urban arsas and 2000 calores P capdi
par fay for nural aneas.

in the Harrod-Domar equation g = s8/v, vis delined as :
(A) thievilue of the country’s capital stock
[B) the mfioof tha couniry's capital siook io s cutput

(€] thechange in the country's capital atock
(D) mone of NG above

Which of the following denoles an underdeveloped economy 7
(A) High Bvel of inequaltes

(8)  Low level of capital producivity

(C) A ralatively closed economy

(D) Al of the above
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50. Which of the following axplains tho term sconomic development 7
(&) Improvement in ths techpology involved
(B} Improvement in production
(Gl Improvement in distribubon sysiam

(0} An ol the above

51. APProX .. s of Indinn population ks stll Agriculturist.
A 46% @) 50%
[C} 58% (D] BaA%

52, Who is known ng fathes ol Econgmics 7
(A) Adam Smith (B) Max Mulksr
(C) Joy Chatorjes (0) Amnlyn Sen

53. Which sinte is the biggest lea producer in the country ?
IA)  Ancihra Pradeah (B} Sikkim
(G} Assam 0] Waes! Bangal

54. The data of estimation of India's National Incoms Is ssued by :
(Al Planning Commigsion (B) Nabonal Data Center
(C  Caniral Statishical Crgamsation (0] MNoneof thess

55, First Five Year Plan in India was from :
(Al 19471552 (B) 1248-1554
(C) 19501855 () 18511058
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What is NSSO 7

(A} Natimnal Souial Sclence Organization
(B) National Social Study Organisation

(C) Natonal Securily Science Organsahon
(D) National Ssmple Survey Organisation

Resarve bank of Indin was established on :
(A) 13t April, 1935
(B) st April, 1838
(C) 18t April, 1837
[0} 18l April, 1838

National Bank for Agriculture and Rural Development (NABARD) was
established In :

[A) 1880 By 1981
[C) 1862 D} 1883
Glit-edged markot moans :

(A} market of govemment securities
(B) bullion market

(G market dosling with metsis

@) market dealing with expon

Gross domestic capital lormation is defined s :

(A} Flow of expendilure davoted to increased of maintaining of 1he capital stock
(B) Expenditure incurted on physical assats only

(C1 Production exceeding demarid

(D] Nat addinion to slock aller depracintion
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Geographic study ancompasses the :

(A) Eant's surfpce

iB) Environmant of tha darth surtace

(G} Environmenl of the sarth's surface and the rolationahip of humans 10 this
amvironment

() Nona ol hess

Actual heights of plaoces above sea lovel are represented by :

(A} Spot helght (B) Layer colouing
(C) Piclures [0} Contours

Day and night are equal &t the ;

[A) Eguator (B) Polas

(C) Prime Mendian () Antarctic
Equinox moans the

(Al Days are longor than nights
(B) Hinhtuamimnurﬂu_hdnw
(C) Daye and nights are sgual
(D) Shortest day and shonast night in a year

The Cenorolc arn follows ... 8rL
(Al Paleozoic (B} Eocane
[C) Masczoc () Pre-Cambrian

The most recent era of the geological time scale Is :
(A) Mosozoic (By Cenozolc
[C) Triassic (D) Palsocens
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10.

1.

12

13.

Arctic Circle is locatod at :
(A} 23" 30° Nof the cquatos
(C} BE* 30N ol the equalar

(B Z3"30°'S ol the ogualor
(D) &6 30° S ol the egualor

Antarctic Circle Is the parallel of :
(A) Longiude (B) Laliete
(C1 Bathol ihase (0} NMone ol thess

Each time zone s defined by its distance :
(A} East ol Greenwich, England

(B) Wesi ol Greenwich, England

(C) Easlor West of Greanwich. Engiand
(D} None ol thaoe

Formation of a rift valley Is due to :

(A} Formiation of lnld mountains

{B) Theforces of tanson on Earih's crust

(€} The subsidence ol tha loar of a river valley
(D] The over deepening of & valley by we achop

The boundary between troposphere and stratosphare is called :
(A) Czone layer (@) Tropogalss
([C) Mesosphare D) Mone of these

The propagation of radio signals is greatly influenced by :
{A) Troposphere (Bl Jjanosphere
(C) Exosphars (D) Themosphars

Places experiencing equal impact of an enrthqunke are cafiod :
(&) Snow lines (B} Seismic ines
(C) toobars (D) Balls
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14.

15,

16,

1.

20.

The sensonal reversal of winds is the typical cheracteristic of :
(A1 Enuatorial Climato (B) Moditarransan Climeata
(C) Monscon Climale (D) Al of those

What causes wind to deflect townrds Ieft in the Southern hemisphere 2
(&) Temparalm B) Mapgnetc hald
(C) Rotation of the Earth (D) Proagure

Which one of the following weather conditions is indicated by a suddan fall In
barometer reading 7

[A) Starmy (B8] Catm woather

(C) Cold and dry weather () Hot and sunny weather
The Capital of Austria s :

(A)  Bucharsl (8] Belgrade

(€) Budapest D). Viennn

The greatest mass of ice on the earth I8 found in :
(A) Canada (B8] Sibana
(C) Amarchica D} Greenland

“Syntaxial Bend” is n lealure of which of the following ?

(A) Himalayns B8] Armvallis
iC) Salpuras D) Vindhyas
Turkey is located between :

(A) Bilack Soaand Caspian Sea

(B) Black Sea and Modilerrarnean Sza
(C) Gull of Suez and Medilerrancan Sea
D) GUI of Agaba and Dead Saa
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21. The latitudes that pass through Sikkim niso pass through @
(A) Aajasthan
(B) Punjab
(C)  Himachal Pradesh
(D) Jdarmimiu and Kashimir

22. Which one of the following cities is most Eastward localed ?
(A} Hydarabod (8) Bhopal
{C) Lutknow (D) Bengaluru

23. inwhich ane of the lfollowing is Maita located 7
(A) Balle Soa (B) Medilaranaan Sea
iC) EBlack Sea (D). North Sea

24. Which one of the lollowing straits is nearast to the International Date Line ?
1 (&) Malacca Stran
(B) Baring Strait
() Stradt of Flonca
(D) Stradl ol Glbraltor

25. Mc-Mehon line is the border botween :
(A) Ihdia'and China
(B India and Nepal
1G)  India and Pakistan
(D) India and Myanmar

26, The transhumance Is still an Important component of the soclo-sconomic life of
the people in the reghan of :
(a) Andaman and Nicobar stands
(B} Meghnlaya
(C] Meadhya Pradesh
(D) Himachal Pradesh
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The Banihnl pass is in:

A} Purjab Himilayz (B) Kumaon Himalayn
(C} Kashmir Himalaya (D) Assam Himalaya
Karawas are terrnces of giacial origin found in :

{A) Teesia Valley (B Ravi Valloy

(C) Jhelum Yalley () Alaknands Valley
Luni River s in :

(A} Punjalb [!!:- Rajasthan

(C] Gujarat (D) Himachal Pradesh
Monscon is caused by the :

(A) Seasonal reversal of winds
B} Ravolution of Iha earfh
{C] Movement of the clouds

(D) Fisa in lamperature

Rocks that are formed by the solidification of lava ara :
(A} Limestones (B) Basal
(] Granie (D) Sand stone

The rural settlemants of Kerala are mostly :
(A}  Compact (B} Disparsed
(G} Linear (D) Radis!

Which one of the following problems |s not encountared in the Indira Gandhi
canal command area 7

(A) Increase in soll salinity

(B} Progresaive waler logging

(€} Asolian siting of the canal

(D} Decling in wister supply
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40,

Which of the following regions does not recelve much rainfall in the south west
monsoon season ?

(Al Cholasagpur plateau (B) Esastormnm Himalayas

(C] Tamil Nadu coast (O} Maharashira

Which of the-following regians is the first alfected by tha South-West monsoon 7
(Al Kerala Coast (B}  Coromandal Coast
{C} Himachal Pradesh (Y Bihar

Which of the following soils is the most conducive for the growth of colton 7
LAY Alluvisl (8] Black
(C) latanis D) Aad

The soil that cannol retain moisture and are infertile are the :
tA) Desart sl B} Aluvin solls
(C)  Latsiie soll {0} Black aoil

How do the 'Western disturbances’ affect the ¢rops In North india 7

AA). They cause heavy damege to the standing crops

(B} They birihg In lacusts which destroy the ciopa
() They are benehoal 1o the crops by cauging winter ram
(0] Thay halp in kesping the plans warm 1o sorms exten| in winter

The power plant at Manikaran based on geothermal anergy Is in the State of :
(A} Arunachal Pradesh (B) Himachal Pradeah
() Jammuy and Kashmir (D) Ubarakhand

Which one of the following is a satallite industrial town 1o a metropolitan city 7
A} Faizabad (B} Murshidabnag
(G Ghamabad () Momdabad
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41.

43,

44,

45.

a6,

Which af the lollowing pairs ol islands are separated from anch other by the
Ten Degree Channel 7

(A Antlarman and Nicobar

(B] MNicobar and Surmatra

(C) Maldives and Lakshatiweep

(0) Sumatraand Jave

Which one ol the tollowing rivers does not originate in India ?

(A} Baas (B8] Ravl

(C} Chenab (D) Sutie]

Which one of the following rivers originate at Amarkantak 7
(A} Damodar I1B) Mahanadi
(C) Narmata (D} Tapli

Where are Shevaray hills located ?
1A} Andhra Pradesh

(8) Kamptaks

() Kerala

(D) Tamil Nadu

Whieh of the lollowing does not share its border with Uttar Pradesh 7
(A} Punjab (B) Rajusiran
(&) Chaltisgarh () Jnarkhand

Manda Devi peak lorms.a part of :
(A} Assam Himalayas

(8} Kumaon Himalayas

(C) Nepal Himalayas

(D) Purgab Himalsyas
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51,

52

Which one of the following is not a lagoon ?
(A) Ashiamudi Lake (B) Chilka Lake
(C) Perbyar Lake (D) Pulical Laka

in India, which of the following States has the largest inland saline wetland ?
(&) Gujarat {B) Haryana
(C) Madhya Pradesh (D) Rajasthan

The Dulhasti Power Station is based on which one of the following rivers 7
(A) Beas (8) Chaonab
(C) Raw (D} Sullej

The tharmal power plant of Bokero |s located in :
(A} Bihar (B} Chhatlisgarh
(C) Jharkhand D} Crissa

The most important fishing grounds of the world are found in the reglons where ;
(A) Warm and cold atmosphernc curmranty meet

(B) Awers drain oul Bnge amounts of freshiwater into the sea

(C} Warm and cold oceanic curmants meel

(0} Continental shell & undulating

The rivers that pass through Himachal Pradesh are :
(A] Beas and Chenab anly

{B) HBaas and Ravi only

(C} Chenab, Ravi and Sutls| only

D) Beas, Chenab, Aavl, Sullej and Yamuna

The —.......... divides India into almost two egual parts,
(A} Tropie of Capricarn (8) Tropic of Cancer
(C) Arctic Circla (D) Antarctic Circla
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58,

Which of the following Is the highes! peak of the Aravalll Range 7

(Al Dhaulavima (B) Gunu Shikhar

[C) Mount Abi (D) Anal Mudi

The formation of ......eaei. is one of the prominent geographical featuras of the
West Coasl

(A} Deha (B) Estuaries

(C) Both (a) and () (01 Nore of these

The Coastal tract of Orissa is also known as the ;
(A) Vindhya Plain (B) Utkal Plain
(C) Pulicat Plain (D) Kalthlgwar Plaln

. Which ol the following Staie is termed as the inrgest jowar growing State in

indin ?
(A) Gljaral (B) Maharashtm
() Rajasthan (D) Kamataka

The largest oil seeds growing State in Indin is ;

(Al Gujarmat (8] Uttar Pradesh

(C) Tamil Nadu (D) Andhra Pradash

f - AN « I afnn shaped tract lormed nt the mouth of a river.

(A} Estuary (B} Canyon

(C) Dalta (D] Gorga

A i .. I8 & river that after flowing separalely joins and merges with a large
river.

[A] Tnbulary |B) Stream

(C) Distributary (D} Buth (a) and (c)
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§1. The largeat catchment area among the Peninsular Rivers is of the river
(A) Godavard
B  Mahanadi
(€} Knshna
(D) Kaver

62. Which of the following rivers flows from East to West 7
(A} Mahanadi
(B} Krishna:

(] Tap!l
D) Godavari

63. What Is mixed farming ?
(&) Growng Rabi as woll as Kharl crops
(B) Growing soveral crops:
(C) Growing saveral crops and Also reanng antmals
(D) Growing sugarcane as well as coeals

§4. Which of the following rivers has a bird’s foot delta ?
(A} Tha Amazan
(8) The Brahmpuira
(C) The Misskssippl
D) The Nioe

65. Which one of the following is a river port 7
(A)  Amstardam
(B) Lisbon
iC} Marselllas
D} Stockhalm
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BB. Mt Killmanjaro lies in:
(A) Kenya
(B) Somalla
(C) Tanzara
(0} Mozamblgue

B7. Tha Aryans belong to which of the following race 7
(Al Cavcasods
(8]  Auatralaids
1C) Mongolows
{0 Negroids

68. The Great Himalayan National Park lies in :
(Al Himachial Pradeah
B) Kamataka
(C)  Jammu and Kashimis
(D} Sikkamy

B9, Arakanyoma is the extension of the Himalayas located in
(A) Baluchistan
(B)  Myanmar
(C) Nepal
(D) Kashmie

70, Dally weather map shows isobars. It is an axample of :
(Al Charapleth map
(B) ' Isoplath map
(C)  Chorachromatic map
{0} Choreschematic map
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74,

For which ane of the following countries Spanish is not an officlal language 7
(A) Chile

(B) Columbia

(C) Republic of Congo

(0} Cuba

The largest coral reef in the world Is found near the coast of which one of the
following countrias 7

(A) Australia

B) Cuba

{C) Ghana

(0N  Phihppiren

Which one of the following citles is nearest to the Equator 7
(A) Colombo

(B8) .Jakana

(C) Marila

(D)  Singapore

In India, the ports are categorised as major and minor ports. Which one of the
toliowing is a minor port ?

{A} Kochi

(B) Duaho)

(C) Paradip

(D) Kandla

The term “Operation Flood” is assoclated with :
(A} Blue Revalution

(B) Galden Revolution

(C)  White Revolution

(0} Yallow Revolution

D-5 page-14 A-Set




Quextion Bookles Series: I Question Bookler Serial No. 110101

CET (PG) - 2017
Important: Please consult your Admit Card/Roll No, xlip before filling your Roll
Number on the Test Booklet and Answer Sheet.

Roll No. In Figure In Words

L .

OM.R. Angwer Sheet Serial No,

Sigraorure of Candidase, Signaturg of Imvighator, ____ -
Subject: MLE. (Computer Science nnd Engineering/Information Technology)

Time: 90 Minutes Number of Questions; 75 Maximum Marks: 75
DO NOT OPEN THE SEAL ON THE BOOKLET UNTH. ASKED TO DO 80,

IH“TE.E

Write yoan Rl Moo on the Cuastioms Feokln und also oo Me CIE Aniwer Shest 0 the khuce prosvided

iiig] mpiathvere ples,

Endar the DGuastion Bopkil Serial Mo, on the OMR Anawer Sheet. Dwdan the correapondiog hubises with

Miwck Nall PointDilack Gol Pen.

Uiy o o amy idendiflomtion mark on Me Anrwr Sheet or Quanton Book e

I Peose check tluit thin Quowtion Bixsler cdotnine 75 Quenthoin. In cuse of any discrejancy, infrm e
Asaritme Supermiendent wihin |6 mitsies of the stirt of Tod

5 BEaeh queitiom hoa foir sltwrmstive inewer (AB.C.0) of shich only ane i comvel For eath guosiion
dierheem only oo bidbble (A o B ooe C o D), wihibchever you think is O comrect sntwer, s the Anvwer Sheet
with Black Wal) PointTilnck Gel Pen. There sboll bo segitive marking for wrimg smiver, 4 ol the
maai'hs of the guestion =il be deduiled (of every nriig smiwer.

i IF you do pod wanl o uswer & queston, laevo all the bubbles correspondimg w thr gquestion biunk m e
Amiwer Bookdet Mo marka will be deduited in noch casee

T Dinrken he hobbles in the OMR Anvwer fhom sceonding to the Serinl No of the questhon. grom (s tis
Chieption Baoolclin

B0 o weson ) chmnge en alrendy markeil srwer, erase the shade iy the dariened bubdle commplelely

@ For rough wurk onily the bk sheet ot the and of the Chrestion Buokiet be used

10 The Linkversiey will provide Logsrite mble Bommowing of log wie or other suatirin] s dor alivwed

1T The Anwweer Sheet (o designod for computer evaluation. Therefiore, of you do nm follaw tha instrmciions
giviet om the Amiwer Sheart, il may mike evaluation by the compater difficult Any resabinnt low fo the
candidute o ibe sbove arcount. Le. mof following the mstroctions compietely, shall be of the
cumciflnte iy,

12 Al the s, hand over tha Question Bogklot and the Amvwer Sheet fo the Assinten Sopermtspden on
dufy

13 s oo came the Amawer Shest, e Questios Booklet, er ity part o sty materinl wsyiled nited o this
Bkt s w2 e tilen ot of the exnmminationn hall, Aoy cendjdute Rond, domg s wirold e expelied s
the exurminminn

14, & candidatn whn srestes dinterhancs: of any kind o changes hinGer som or (8 Toumd i possession. of amp
pagier potsibihy of shy snalstnt or (ol dving or receiving saliant ve lound ininyg any other urfabr menny
diwing, the examinatim will ke epelled fom e cxaminutlon by the Centre Superimendent/Obsanve
whene dechinon shall ba final

P Commidsbeathen sgiipment sich sa mioble phinis, peger; wireles set, soanner, camera or ahy
ehestromiefibgninl godget etes, i nol pormitted imiide the cxxmination kadl, Use of calesbator i a
CTIGUT

16 Tl camildates =ill mot be allowed fo lewve the Eminetion RillRoom befors the eapry of the allomsd
tibmen

LE ]
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Power on Selfl Test (POST) dingnoatic test determines

Al That the computer hindware like RAM, Keyboard, Disk drives works correctly.
Hy Formal of the Hard Disk

€} Opemting Sysiem 10 be instalied on computer

1)) Life time of Hardware,

21 Terabytes i cqual (o
A) 21000

BY 210 Gigabyies
C) 2100 Gigabyted

DY 21000 Megabytes

Which ol the following is & volatile memory?
A)  ROM

B) Hand Diink

) RAM

(1) DvD

AjmﬁilnhlnulﬁunﬂiphymhMUrlﬂﬂ x 10KG, What is the aspect mtio?
Ay 9:18

B)  16:9
C) 4:3
o) 1:4

Suppone mstend of using 16 hitm o the netwark part of & class B 1Pvd address, 21 bits have been
used. How mmny cluss B sub-networks will be there? '

A) 3l
i) 5
L
) 3

A capacitoe i chusged by constant turrent of ¢ mA and results in & voltnge incresse of 12V ina 13
seoonds intervil. Value of capaaitance is

A) 36O mF
B) 4313 mF
L) 39 mF

(8] 3.69 mF

Ciiven that AB+A'C+BC= AB +A'C, then (A"+C)B+C)(A+B) i¥ equivilent to
Al (ABENAAC)

B) (ALBNA+C)

€} (A+BRAC)

1) (A+BHAT+CT)



£ What will be tbe oulpie of following:
Ainclude<sadio h>
i )
|
intd =84, k;
FH = = ek
} P Yo \s %4 W %d®, 4 , i, ki

Al [\ 4 8
Hi 8 9 1
9] K ] L
1) 11 1 i

B What will be the ovrput of following:
Vincludestilio &>

rruatiing }
[

mi=1; _

for] = 0, =)

prindiin %d®, L1

printfT=uEnd of Line™):
)
Al T 7 7 7
B) End of Line
) 0123 4567 8 9 EodolLine
I 01 X3 4 5 ¢ 78

10, A method of ensanng olestronic document integrity

A) Finewall
By ssL !

C) Authentiuad ion
D) Digital Stgnutures

11, Beowmve funotions ure execuied in:
A) Last in First ot order.
8) First In First ot order
Q) Prrallel Oirder
m Random ordor

12 Give the'output of following ‘e’ code:
Hdefine senix) xfx

vaid maini)

4 el Sun=4%d", sum(S)*sumi6}); ]
A) 120

) 22

<) iR

1] dl

2}
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1T.

18.

19.

Which of the fiMlowing would best fit the following desiription — software is copled and givett 1o
& friend without the permission of the copyright owner?

A} Frecware

By Py

£y Shereware

D) public domain

Find the number of comparisons using binary search methisd required o search 1000 in amsy
A=(19, 25, 30, 35, 37, 45, 52, 69, 900)

A q

m 9

g 0

™ Binary search can not be performed on this data.

Evilunte postfix expression: 12 Ll 7-/215+* ~
Ay 18
B 17
€) 15
B) 14

When followng ssquence is inserted in the binary search tree then the number of nodes in boft and
righisubressofoolwe: 52 86 64 20 3 25 14 9 85

Al Leftpodes = 5 and Right nodes = 3

By Left nodes =6 end Right nodes= 3

)  Leftnodes =3 and Right nodes = §

4] Left nodes = 3 and Right nodes = 6

Order the Tollowing list by their ssymptotic growth | Destes) 1o slowest)

G} m () n° {hii} logn {ivhn! (vin g n
Al fili=i=v=iv=ii

B) liel=v=iv=ii

) H=idv—=H—-iv

D lev=l-tv-i

pogtam ba written lo tom sa/off 4 switch. The Switch ia switched off once the temperature falls
wllmdthnrtumwdmwhmmul:mpulh:mumﬂmﬂ To teat this progmm,
eniify the Equivalence values which belong o the st cliiss.

A} 12,1622
B) 222334
() 14,1519
0 22717

How can yow moke an e-mail fink i HTMLT
Ay cmaibxa@ysy<mail>

B) < heeb gy

C) <t heed ="mailto:xoc@vyy ™

Py <mail hyef="xxxayyy™>

2
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4

Match the following:
a) HIML (i) Protocol for sending ¢lectropic mail on the Intemet.
B) HTTP (i) Conpany that chirpes fee o enable organlamtions 1o conpect t0 Intemet
¢l ISP Liii) Set of tigs and reloted miles that are used 1o crete web pages.
d) SMTP  (v) Intemnet standard that support exchange of information on Wob.

Al aH) bR e (i) Ay
B) W) B € (1) )
€y meiv) B el (i) d)-(iin)
(3] apiii) bRl <k (iv) A1)

I we nse x"+x"+1 polynomial sendard, whin would be the cyolio redundancy check if the ongmel
datn comppoment was | 10117

Al {010

B 1100

¢y 1ol

3] 010}

Convert the fﬂlT:hl-'hIg: (3208 =i ururereniaians b 18
Al 110

0 115

C) 116

o 112

A dingle ardy Al MANSIZE] 5 used to implement two sticka. The two itacks grow fri
oppoaite endy of the wray. Vanables topl wnd topd (jopl<wopd) pn_i_q] to the Jocation of th
Wm dem in ench of the macke IF the space is 10 be Used efficlently, the condition
“stak (01" ba

A) (topl = MAXSIZER) and (lop2 = MAXSIZER+])

Bl lop)*op? = MAXSIZE |

C) thopl = MAXSEZER) oF (p2 = MAXSIZE)

) tofpl = top2-1

How many address lines are nesdid 1o address cach memory location in a 2048 < 4 memory chiy
Ad 10
L8] 11
) Id |
(3)] 4

T fink L, the suecessive elomenis

A) Must he stoned in contigiots menuiry spate
B Nesd ot occupy contiguols nemory space
Cl Ivliest ot DCCUpyY conliguous MEmory spooe
(1) Mone of the above

(4



26.

29.

3L

Suppose a Wb server application gencrutes messages consisting of 120 bytes of data 1o be sem.
Mesmye geis encapsulated In & TCP segment and then un [Pvd dmngrum, There are no options
adied in the TCP of [P heatiers. What is percentoge of 1P datagrum size consisting of spplicstion

daia?
A) g%, !
B) 0%
C) 5%
D) So

Suppose on opetiiting svstenmi (OS) designer chooses the micro-kermnel architécture over the

Ehm_l_iﬂli;: architeenire Tor implementing an OS. What can be the strongest motivating rotson for
s

Al The noed for meximum periirmanice

B) Because hardwiue support exists for micro-Kemels on most mictoprocesson

c) The deairo o have o flexible and extensible kernel

Dy Need for performance isolation mmong user-lovel processes

Consider the followang funetion in ()
Test (intth) |
if(tl=0) petumi;
clae retui L] 4= Test(l]l = 1)
_ }
When the above function is ealled with o non-2em positive value, it slways retums value of
Al il

By 1l
C} et + /2
) Zem

The machine independent pahses of the compiler
A)  Syntix Analysis

B]  Lewichl Analysis

) Intermedinte code generntion

13 All of the above

ﬂim:hnfnllotrln;npﬁﬂmnmnm
E-=>E*F|F+EIF

F2>F-F|id

Which af followlng s true

A) * han highet precedenc (hin +
B) = haw higher precedenc than *
Y+ and - huve same precedenc
D) + has higher precedenc than *

A graph in which all vertices are of equal degree ia ;

A} Regulur gruph
B)  Simple Graph
C)  Complete Graph

D) Bipmrtite Gruph
(5)



52 The mos impormn difference in the performmnes between main memary and secondary memory

Ay

F:

Al Fower comurmphon

1 Mt seconidury storge dovices wed o0 big to Bt o the CPLI

L Secondary siorags i mostly bi-state, but main memory i mostly tri-state
1y Spend qf scsess; setondary storage is nih slower

Cymcad Tiber 8 one of the most atrmmctive physizal lnyer media 1o use finr high spoed nerwors

hecamse

Al offery mmmense prammmision bandwldih

B Tt has extromely loow gimou rabes

€y Iean pover relatively large geagraphic distances brfore requiring repeaters
51} Al of the above

Iy UNIX opermting system, commpmd wed for backups and achigven is
A) Lar

B) Backup

) Archeive

oy None of above

In order b0 enhince perfdemance of the complter, Disk dolmgmenter
Al Consolfdmes parts of flex lving ot different locations on computer’s hand disk.

B) Dieleties temporary files related to Intermet.
C) [debeties temm pownty files related 1w bhackup.
[h]] All of the above.

Today"s deskiop computers have typically X7 amount of maln memiry, *Y" spesd of processe
und * 7" amount of hard-digk memaory. Approximately X, Y, Z can be tespectively,

Al 4MB. ML, 10D0MB

By 4GB, 5.3 Gz, 1000GE

C} 4GH, WGH 1000KB

o) JOGB. I 100G

You want 10 use mubtiple opemting ssstem like finux, windows eto. voncurrenily on sinigl
muchine. The best way (o achieve this is:

A} Make machine multiple bootable like using GRU

H) Use virmndization software like VM Ware

) Itls ot possible

()] Notie of Above

Which of the follvwing optical trmsduces is an active transducer?
A) Photo traneksson

i} Fhoto emissive cell

Ch Phicto voltaic ocl]

) Photo dinds

(6)
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42

Let A =656, B = 473 wnd C = 1351, then in which of the following number sysems is the
oquation A+ B = C satisfied?

A) Binary

Hj Dhecimil

Cl Hexadecimal

(3} Ocinl

H ljty 16 = . then the value of nis
A) .

B) &

L&) 6

) 4

How many memery chips of {1 28xK) are needed tu provide s metmory capocity ol 2048x 167
Al &4 '

Bj I2%
C £
(8] 32

If a relation scheme is tn BONF, then it s alio in
A) Multiple nofnsal forma

B Third tommill form

Oy Second pormal form

13} First normal form

Which wrm mitches the following definition? The an and scicnce of hiding secrel messages
within pome other form that ts uspally visible or out in the open for anyone o see if they knew
whire o book

A) Dijgitl Shignatire

B}  Siegmooguphy

€y  Encryphion

[ Drigitel Walermarking

Cookies were designed a3 n respense (o which peoblem in the original design of HTML aod
HTTP?

A) Lack of privacy and confidentinlity in viewihy web-pages

B) Inctuality if mfurmation between clients snd serven

C) The open and disrriteted natore of the Tmemet

D) Persischee of state betwee weh-sessions

A) Indicates how data are tranaformed by the system
2} Imficstes syatern seacticons Lo extermil eventy

) Detplcti relationships botween datu objects

D) Depicts fungtions that transform the dats Dow

]



46. A milk eomminer eomtains 5 Jitres of milk. The milkman replaces 3 litres of milk by waler, Beis

47.

s

et satisfied by the mixture, He agsin eploces 5 litres of this milk by water. How much quantit
af milk is now ket in the milk comtnines?

Al HLS

B 40

i 4]

[BJ! ms

The emerging rd for WPANs isthe [EFE
Al B2 3 s

B BO215

€ Rl

) 220

Which one of the foliowine statemments is niol correet? _

A Cyelometric complenity for o flow graph G is V(G}= E - N + 2, where F is the oumber ¢
edyes & N iz the number of noges in the. fow graph.

Hi Cyelitnetric cormplexity for a flow graph G Is V(G) =P + 1, where [ is the mimiber o
predheme nodes contained in the fow graph G,

C] Cyelouvetric complexity for s flow graph G is V(G) =N - E +2, where B 1s the nutiber o
ecdpes and N is the number o modes in the fow goph.

B The number of regions corresponds to the cyelmatic comploxity,

CIN? Seheduling refies 1o

A} Swappihy processes from secandary o main memony
i 4 Switch off the power of processor

) Mumagenient of processes in muin merony

13) Allowing procossds i use the processer

Which of the following tag In HTML fs used o add & row jo & table

A) <l

W

L) B8 (T
(3] <tuple>

The Parmng Teshinkque that avedds haokirocking in:
A) Predictive Purzing

B} Top Dovwn Parsing

<) Syntax Tres

) Recursive Descenl| Parsing

A peogram I* calls vwe subprogramn P ssd P2 P can fail 5074 times and P2 408 times, Then |
can fiull

Al 10%
B) 50%
€l 0%
D) Y%

)
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A UPS in a compuiter sysiem:
A) increases the storage capacity of o computer system .
8 Increuses the process speed

) provides backup power in the event of a power cut
B Incresses 1O apeed '

Which of the following softwane is avidiable in open source and free domain
Al Adobe Photoshop

1] MES-Windows

L) MicrosoR-Crfice

13 Lo

You wish w instull o bardwure device thar is not Plug and Play. Which of the fbllowing is
eommondy the first instruetion given in belp manuat o install this doviee?

A} Tam the power off

B Install the driver

) Dhisconnedt the monitor

) Tnsial] the device

Print server uses whvich s & baffer that holds dain before it s send 1o the printer.
Al Queue '

BY  Node

¢y Up§

B Speal

identity theft in the

Al i om by & thiel of somenne"s ideutity for purpose of soonomic! soctal gain

i impersonation by a thief of someane with good credit
) imperscnation by a hief of someane with computer skills
) impersgriation by a thief of someans with a lerge benk sccoum

RS-132 is o standard that applics 167

A) Ciamie port
B Pasallel port
C) Serinl port
D} USH Pot

Dats Definition Langunge (DOL)

Al dezcribes how duts are structured inthe data hase

B) specifies for the DAMS what i& required; the 1echriques used 10 process data
) determine how data mmm be struchizred 1o produce the wser's view

1 1}] All of the nbave

#)



i), A document callexd

61,

managesble cléments

A} Scupe Statermen

B Work Breakdown Strugruee
) Riguesied Changs

(3] MNetwork Logic Dingram

Whs bs commsrdered the “futliee™ of Woeld Wide Web'!
A) Ved Nelion

B LI Clittes

) Tim Bermers-Les

B MNarayap Murthy

Ax Cirele” is reluted 1o 'Circumference’ in the same way Sguare” i3 relased 1o what?

Al Angle

] Arca

L] Dingoakl
13 Penmeter

Assunie that the following stintements dre rie
Statmvenis: Some wents are Fagquirs

Conchusions 1 Some saints e kings.
L. Mo aiid s King.
Al Cinly |
B) Brthi | anad 1
C) Oaly 1l

m Nuitherl gor 1]

Coupling s a qualitstive indication of the degree o which & module
A) In ibie 10 complete s funition in o Homely nnner

:1] in connected to other modutes and outmde workd

) Focuses ot just ome thing

) Can b wrilten more campactly

The copditionms immediately outslde the software system is called
A) The euvirmment

L] The boumdary

) Thie grupdical user intorface

4] oo of the Above

NS servers unslates weh addresses ar hadl Bamyes 10
Al Homt Ngme

B 1 adileess

C) FTF adidresa

D) MAU miileans

Ly

ks created by decompasing the project scope Into smiller, more
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Which of the following fiems would not come umiler Configurstion Manngement of softwase?
A) npmﬂng:;mm
B teut documentation
C) user requirement document

(1] livee data

An unsalicited e-mail message sent 10 many recipients sl onoe 1 o
A}  Trojen harse

H) Span Masl

) Spy ware

(&7 Worm Mail

Vittual memary ig

A) related to virual reality
) a form pf RAM

G a fonn of ROM

(W] a form ol 11O

Back-up procedure helps in _ _

A) restoring the data files whenever there is a systom crash

B) restoring the operation whenever there i disk failure

C)  vestoring both application and symem software whenever there is disk corruption.
] All of the ahove

A display is configured © show 1 million colors: How many bytex arc pesded to siore the color

information for one plrel?

A) A

Bl 3

Q) d

D) |

The cychomatic complexity ettt provides the software designer with information regnrding the -
nunher of

Al Independleat logic paths in the progrm
B Cyules in the program

) Erors in the progmm

D) Stuterments b fhe progrum

Consder the experttent of tossing 2 dice. Let A be the event that the numbets appewring on Wop
are equal, and B be the event thal borh nunbers are even. How muny ootcomes will the event A m
B eonsists of?

Al |

B) 3

c 4

Dy 6

(113
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T4, A hlomotric device

A) slows useTs o conncel 1o & compniter only sfler the compuler éalls hack of o prreviches]
carah ] palusd belephwione i ber

B A thenticalion & person’s ideniity by veridymg personal chpracierimics

L) I8 m undgque eombinplog o chumpeters, . such me | letiers of the alphsbel o pumborsy, (vt
fdentilies one apspilie U

(W} bs vy [t (iae, et Be crried b waln ascess (o o compiter of compuler Gaciliny

75. A machine cvaie nelers 1o

Al {etiching mn'sbouction

2Y cingh specd

Cl fetching, desoding and exevutimg an inErmelon
Ly} e oxurbbie mny bt

(12}



